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1.§[-st=? where [:x[+yj (10%) 3:
J :
§r-nds:jv-rdA:2A:27r / N
c c > X
2.jjr-ndsz? where r=xi+y j+zk (10%) kJC
s ) ) - ) 1z
4 n
_ . _ _ _ a3 ~
Lj[-qu_mv rdv = [[fadv =av =3*_ar’ =4z ol
3. Fill in the Table (30%) X
1-D 2-D 3-D
r \/X_Z x* 4y JxP+yi+z?
r Xi Xi+y j Xi+y j+zkK
vr rir rir rir
ver 1 2 3
vV - (V r) O O O
2
V-V(5) Vel % 0
X r
V x(Vr) 0 0 0
4 .Explain why Green’s theorem can be special case of Guass theorem and Stokes’
theorem.(20%)
Green’s §de+Qdy ”(@—E)dA Guass §v-nds='|'.|'v-vdxdy v=(Q-P),
8y ~ ~ ~ ~
Stokes’ iﬁy-'gds:”ny-dA v=(P,Q) 27 27
K\C 1
X y
: dx + dy = ?(30% > >
Casel x=cos@ y=siné
jﬁ , X SdX +— y 2dy=§cost9(sin9—sin¢9)d6’:0 Case 1 Case 2
CX“+y X“+y
Case2 x=cosfd+4 y=sind
jﬁ 2x dx + _—4sing 0
Cx?+y® x? +y 17+8c039
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